
489875 - EHL 65 E 230V

страница 1 от 3

30.5.2014http://ekat.festool.de/EKAT-Service/jsp/main.jsp?select=currentImageAndPartlist&do...



Pos Teile-
Nr.

Benennung Menge Preis 
ohne 
MwSt

Preis inkl. 
MwSt

Lager-Code Garantie

1 486984 Anker 230V 1 62,20 EUR 74,02 Ja

10 448927 Riemenscheibe 1 6,91 EUR 8,22 Ja

11 204471 Sicherungsring 1 0,60 EUR 0,71 Ja

12 400225 Rillenkugellager 1 4,03 EUR 4,80 Ja

13 448928 Riemenscheibe 1 12,31 EUR 14,65 010-H2-401 Ja

14 204471 Sicherungsring 1 0,60 EUR 0,71 Ja

15 400225 Rillenkugellager 1 4,03 EUR 4,80 Ja

16 400468 Linsenschraube 3,5 x 14 mm 4 0,60 EUR 0,71 095-A8-604 Ja

17 444863 Lagerdeckel 1 22,78 EUR 27,11 010-H2 -804 Ja

18 444869 Ventilator 1 2,05 EUR 2,44 010-PP-601 Ja

19 444870 Luftführungsscheibe 1 1,82 EUR 2,17 Ja

2 495162 Feldpaket 1 26,95 EUR 32,07 010-H2-702 Ja

20 400230 Rillenkugellager 1 4,59 EUR 5,46 Ja

21 219069 Linsenschraube 3,0 x 12 mm 2 0,60 EUR 0,71 030-MM -209 Ja

22 444865 Blech 2 0,60 EUR 0,71 Ja

23 447299 O-Ring 1 0,60 EUR 0,71 Ja

24 228566 Vierkantmutter M6 1 0,60 EUR 0,71 Ja

25 488544 Parallelanschlag PA - EHL 1 13,30 EUR 15,83 Nein

26 450074 Litze 1 1,13 EUR 1,34 Ja

27 444887 Stellrad 1 2,08 EUR 2,48 010-H2-401 Ja

28 446297 Mutter 1 3,89 EUR 4,63 Ja

29 446295 Blattfeder 1 1,13 EUR 1,34 010-H2-401 Ja

3 490839 Umbausatz 1 10,56 EUR 12,57 010-RR-502 Ja

30 444885 Segment 1 1,73 EUR 2,06 010-H2-401 Ja

31 488932 Gehäuse 1 41,24 EUR 49,08 010-H2-903 Ja

32 448930 Quicksert 2 2,60 EUR 3,09 Ja

33 446299 Luftkanal 1 1,90 EUR 2,26 Ja

34 400468 Linsenschraube 3,5 x 14 mm 1 0,60 EUR 0,71 095-A8-604 Ja

35 446294 Skalenring 1 4,24 EUR 5,05 Ja

36 446293 Lagerring 1 1,30 EUR 1,55 010-H2-401 Ja

37 400468 Linsenschraube 3,5 x 14 mm 2 0,60 EUR 0,71 095-A8-604 Ja

4 461121 Kabel EU 1 13,37 EUR 15,91 020-H2 -801 Ja

40 400468 Linsenschraube 3,5 x 14 mm 2 0,60 EUR 0,71 095-A8-604 Ja

41 444878 Schenkelfeder 1 0,60 EUR 0,71 010-H2-401 Ja

42 400468 Linsenschraube 3,5 x 14 mm 1 0,60 EUR 0,71 095-A8-604 Ja

45 444881 Gehäusedeckel 1 3,63 EUR 4,32 Ja

46 444883 Spanauswurf 1 2,37 EUR 2,82 010-H2 -705 Ja

48 448785 Winkelstück 1 1,13 EUR 1,34 010-H2 -401 Ja

49 439288 Klemmbrücke 1 0,60 EUR 0,71 020-RR -703 Ja

5 445738 Kabeltülle 1 0,90 EUR 1,07 040-MM -701 Ja

50 400468 Linsenschraube 3,5 x 14 mm 2 0,60 EUR 0,71 095-A8-604 Ja

51 447306 Stütze 1 0,87 EUR 1,04 010-H2-401 Ja

52 715033 Drehfeder 1 1,16 EUR 1,38 010-H2-501 Ja

53 770080 Zylinderstift 4 x 26 mm 1 0,60 EUR 0,71 Ja

54 487923 Tacho 1 7,07 EUR 8,41 Ja

страница 2 от 3

30.5.2014http://ekat.festool.de/EKAT-Service/jsp/main.jsp?select=currentImageAndPartlist&do...



55 488504 Hobelkopf 1 91,02 EUR 108,31 010-H2 -601 Ja

56 400468 Linsenschraube 3,5 x 14 mm 1 0,60 EUR 0,71 095-A8-604 Ja

57 400482 Spannstift 1 0,60 EUR 0,71 010-H2-401 Ja

58 444880 Blech 1 1,10 EUR 1,31 010-H2-401 Ja

59 444879 Hülse 1 2,25 EUR 2,68 010-H2-401 Ja

6 228743 Linsenschraube M3 x 8 2 0,60 EUR 0,71 035-MM -308 Ja

60 400468 Linsenschraube 3,5 x 14 mm 2 0,60 EUR 0,71 095-A8-604 Ja

61 444859 Deckel 1 7,63 EUR 9,08 010-H2 -703 Ja

62 400468 Linsenschraube 3,5 x 14 mm 5 0,60 EUR 0,71 095-A8-604 Ja

63 488505 Kohle (Paar) 230V 1 5,83 EUR 6,94 Ja

64 450072 Litze 2 1,90 EUR 2,26 Ja

65 400231 Linsenschraube 3,0 x 10 mm 2 0,60 EUR 0,71 050-F1 -201 Ja

67 488413 Regelelektronik 230-240V 1 43,45 EUR 51,71 010-H2 -801 Ja

68 447290 Hobelsohle 1 14,54 EUR 17,30 010-H2 -805 Ja

69 228713 Linsenschraube 4,0 x 16 mm 4 0,60 EUR 0,71 Ja

7 439803 Stiftschlüssel 1 1,81 EUR 2,15 Nein

70 446296 Zylinderschraube M4 x 40 1 0,61 EUR 0,73 010-H2-401 Ja

71 446302 Stelltisch 1 17,88 EUR 21,28 010-H2 -802 Ja

72 228718 Linsenschraube M3 x 6,5 2 0,60 EUR 0,71 Ja

73 462187 Gewindestift M4 x 12 1 1,60 EUR 1,90 025-H1 -501 Ja

8 488506 Deckel 1 7,39 EUR 8,79 010-H2 -704 Ja

9 448235 Keilrippenriemen 1 13,34 EUR 15,87 010-H2-401 Ja

страница 3 от 3

30.5.2014http://ekat.festool.de/EKAT-Service/jsp/main.jsp?select=currentImageAndPartlist&do...


